SH2FE S — HF249830H
N 10 E ‘fTE i; R AR
: %)

BH| B | B N T B F = Z fth TREEZ
o 2N . ~ S 1'25 1425
1| K [O|1-6FELMRZ(13:30~FBAME) 3~GE 15:15
-5 RSS2 (0. 00~ . 1~3% 14:10
2| & [O|9370 2FERHRZ (9:00~REE) 4~6%E 1515
3|
4] B
sl 8 lo ZEHAI (T F2rHB. 2F3FHEE Bk 1-25F4% 14:25
:""T"?‘H SCIN=N2lnaane) SN =Rk o =l 3~6$$ 15:15
o —al /A I"B=FE o .:.LIL Erm':\i) = jNEe) 1EE 1425
6| % | O |BMBAFE WRE) Xet%Va=7R oeGiEE 15:15
1A x o ZEHR (2RI BESE £, S B 6FEA 1~34%F4% 13:50
WAR=E) 4~BEE 14:40
< ] 1284 14:25
8| K | O|har&LLEEQ 3~64F4L 15:15
o s 1~3% 14:25
9| & | x |FIEARRENX ER 4~6&E 1515
10| £n SR ERAIR
11
12| B O?&ﬁﬂﬁﬁ%iﬁ 1284 14:25
Hrp#E{TA 3~64F4% 15:15
13| & | O BAE 154 14:25

2~6FE4E 15:15

|k |o|zrT@e YRS

3-4E HETLEERMKRZ (13:30~%EM
15 K | O (=)
BAMERESEHAR(18:00~KEH)

1254 14:25
3~6F4% 15:15

- 1~3% 14:25
16| € | O|ZE2® 4~64 15:15
17| £n
18] B
10| B O%&E%%ﬁ‘%tﬁ@nm) 12854 14.25
DERBRE(E-HB1FE 13:30~RE 3~B4&E4E 15:15
DG = 1EEE 1350
20| X | O BARK 2~6F4 14:40
1~3F4% 13:50
21/ k1 O 4~6EE 14:40
2| % | 0O F2EEFRITIRERSRHS(18:00~ 1.24% 14:25
AEfE) 3~644E 15:15
N 1~3% 14:10
23l £ | O 1937Q 4~6%F 15:15
24| £n
25
1284  14:25
26| A0 3~6EHE 15:15
% . 3 N . ~ H== 1ﬂ££t|_ 14:25
27| K | O|1-65FRHKRZ(13:00~ZHME) o~BEE 15.15
28| | o 6EmEMRZ (900~ RE=E) 1~3%4% 13:50
1 7RB—&RHA 4~BELE 14:40
1-2%4% 14:25
29 K | O 3~6&FHE 15:15
- 1~3% 14:10
[ £ | 0|93 4~6%F 15:15
31
BEOM. 2280 #BEHN 200
(11ADOELBITEFE]

68 (&) BRHARERS




